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SECTION A (READING) (20)
Q1. Read the passage and answer the questions below.
HIDE AND SEEK
1. In the wild, it often comes down to predator and prey, the hunter and the
hunted. As you can imagine, most organisms want to stay alive. They have
developed ways of adapting to severe habitats, and hiding or escaping from those
who would like to eat them. So how do they do it?

2. One very helpful adaptation is called camouflage. You may have been
surprised by an animal that was using camouflage in the past. It blended into its
surroundings so well that you nearly missed seeing it at all. Its coloring,
markings, or other physical features resemble its habitat so much that you can
look directly at it without seeing it at first. This is often good enough to fool a
predator that is scanning an area to look for food. This helps prey to hide from its
predator. But did you know that it often works the other way around, too?
Predators can use camouflage to trap their prey.The spots on a leopard’s coat
allow it to blend into its habitat.

3. If a predator wants to eat a certain animal, and that animal cannot see it lying
in wait, it can pounce on its prey unexpectedly, devouring it before it even knows
what is happening.

4. Another popular adaptation is mimicry. Mimicry is when an animal has
markings or other physical characteristics that allow it to look like some other
kind of animal or plant. If it can make its predators believe that it is something
that preys on them, or would at least be difficult or painful to catch, its predator
will often go off in search of an easier target.

5. Sometimes animals are able to survive when their habitat changes because
they adapt to the new conditions. For example, birds that were accustomed to
nesting on high cliffs or in tall trees have survived industrialization of their habitat
by learning to nest in the crevices of tall buildings. Raccoons easily adapt to
residential areas that have taken over their woodland homes. They often help
themselves to any food they can grab, whether it is in trashcans, or inside people’s
homes!

A. Answer the following: (1x3=3)
i) How do animals protect themselves?

iij) What is the other means of adaptation?

iii) What does a predator do to catch its prey?

B. Complete the following. (1x4=4)
i) When an animal uses that you can look directly at it without seeing it.
ii) Animals can survive even when their habitat changes

iii) allow it to look like some other animal or plant.
iv) Racoons adapt easily because




C. Find words from the passage which mean the same as: (1x3 =3)

i) skill of imitating someone : (para 4)
ii) natural home or environment : (para 2)
iii) eat hungrily or quickly : (para 3)

Q2. Read the following poem carefully:
The Miser and his Gold

Within a hole which he had made

A miser kept his treasure

He came to see it every day

This was his only pleasure.

Now it chanced that once, as he knelt by the hole,
He was seen by a robber bold,

And the robber came back the very same night,
And took away his gold.

When the old man found that his treasure was gone.
He made such a terrible clatter

That the neighbours all came running up

To ask what was the matter.

“Last night”, he said, “a robber took

My gold and away he ran with it.”

Said the neighbours, “Before the gold was gone,
Pray tell us what you did with it?”

“l came every day to see it, and now

What can I do?” he said

“You can come every day,” his friend replied,
“And look at the hole instead.”

-- Jane Taylor and Ann Taylor

Answer the following by choosing the correct option.
i) A person who loves money and hates spending it is:

(a) a greedy person (b) a miser

(c) a rich man (d) a spend thrift

ii) The Miser derived pleasure from :
(a) counting gold pieces. (b) collecting gold pieces.
(c) spending gold pieces. (d) looking at his gold pieces.

(iii) The neighbours who came running did not know :
(a) who the miser was. (b) why the miser was shouting.
(c) what the miser was doing. (d) what the miser said.

iv) The robber came back the very same night to :
(a) replace the miser’s treasure in its place.
(b) hurt the miser.
(c) help the miser.
(d) take away the miser’s gold.

v) The message of the poem ‘The Miser and His Gold’ is :
a) Always help your neighbours .
b) Rob the treasure of misers.
c) Happiness does not flow from wealth or power.
d) Money lasts forever .



Q.3 Read the passage and answer the questions that follow by choosing the
correct option. (1x5=5)
Jason the Great

Jason hated finishing things almost as much as he loved starting them. As a
result, he had gotten into a million hobbies and activities, but he never stuck with
any of them long enough to get any good. He begged his mother for months for a
guitar so that he could play Black Eyed Peas songs to Angie, a girl he liked, but
after he finally got one for Christmas, he found out that guitars don’t play
themselves. He took a few lessons, but strumming the strings hurt his fingers and
he didn’t like holding the pick, so now the five-hundred dollar guitar lives under
his bed.

After reading an advertisement in the back of one of his comic books, Jason
decided that he wanted a Wonder Sweeper 5000 metal detector, so that he could
find buried pirate treasure. So he mowed lawns all summer and didn’t spend his
money on ice-cream like his younger brother, Alex. He saved it all in a shoe box in
his closet. Then he shoveled snow in driveways all winter, and he didn’t spend his
money on candy and chips like his classmates.

By the time spring came he had saved $200, and he purchased the Wonder-
Sweeper S000 metal detector. He beeped it around the park for a while, but he
soon found out that no pirates had ever set sail in his neighborhood, and if they
had they didn’t leave any treasure. Even though he found a key ring, forty-seven
cents, and all the bottle caps he could throw, he buried the metal detector in his
closest.

Given Jason’s history with hobbies, it was no surprise that Jason’s father was
reluctant to buy him a magician’s kit for his birthday. “Geez, Jason... You sure
you wouldn’t rather I got you more guitar lessons?” He suggested. Jason was
insistent. “Dad, you've got to get me the magician’s kit. This time I’ll stick with it
for real. I promise! Come on, Dad,” Jason begged and his father sighed and then
replied, “Oh, I don’t know, Jason. Things are awfully tight right now.” But Jason’s
father was reminded of his own youth long ago, when he quit football and started
karate practice before hardly getting his equipment dirty. So when Jason’s
birthday came around, he was both surprised and pleased to find the magician’s
kit that he had desired so badly with a big bright bow on it. He opened up the box
and unwrapped the many parts in the kit. As he did so, he imagined sawing his
pet cat in half and putting it back together to the amazement of his friends and
family. He took the many fake coins, trick cards, and rope pieces of varying length
on the kitchen table and imagined pulling rabbits out of his hat and turning them
into pigeons with a mysterious puff of smoke. As Jason continued pulling plastic
thumbs, foam balls, and giant playing cards out of the magic kit, a commercial on
the TV caught his attention. “Hey kids! Have you ever wanted to go to space?
Experience what it’s like to be an astronaut? Do you want to explore the universe?
Well, now you can.” As the commercial continued playing, Jason walked away
from the magic kit on the kitchen table and stared at the TV screen longingly. “For
only $195 you can go to space camp and live life like an astronaut for a whole
weekend. Enroll now for a once in a life time experience.” Jason’s cry rang
throughout the house as he yelled, “MOM!” He now knew what his true purpose in
life was.

i. According to the text, why does Jason stop playing the guitar?
(a) It hurt his fingers. (b) He’d rather play drums.
(c) It was too easy. (d) He liked something else.



ii. Why does Jason’s father buy him the magician’s kit?
(a) Jason mowed the lawn.
(b) Jason reminded his father of himself.
(c) Jason bought ice cream for his brother.
(d) Jason found his father’s key ring.

iii. Which word is closest in meaning to the underlined word in the following
sentence:
“It was no surprise that Jason’s father was reluctant to buy him a magician’s
kit for his birthday”?
(a) Happy (b) Willing (c) Proud (d) Hesitant
iv. Based on the end of the story, Jason is most likely to go on and do which of the
following?
(a) Become a great magician
(b) Learn to play guitar well
(c) Detect an incredible hidden treasure
(d) Raise money to go to space camp

v. Which character trait best describes Jason in regards to his hobbies?
(a) Dedicated (b) Impulsive (c) Committed (d) Devoted

SECTION B (WRITING) (25)

4. You are the Cultural Secretary of your school. You have been asked to
inform the students of Class VI to XII about an Inter-School Drama
Competition. Draft a notice in about 50 words to be put up on the school
notice board with all the necessary details. (4)

5. Given below are some notes on the most popular comic actor, Charlie
Chaplin. Write a bio-sketch using the information provided, in about

80 words. (6)
CHARLIE CHAPLIN

1889 : Born on April 16, a South London Slum, Parents stage singers

1914 : Reaches Hollywood (USA), great fame as an actor

1920 : Sound came in films, already made career — silent films

1931-40 : Popular films - City Lights, Modern Times, The Great Dictator

1951 : Leaves USA for Europe

1977 : Settles in Switzerland, dies.

6. You are Rohan Sharma, a student of Class VI of A S C School, Delhi. While
playing in your PT period, you have injured your left leg and the doctor
has advised you to take bed rest for one whole week. Write an application
to the Principal of your school, requesting him/her to grant you leave for
a week. (7)

7. Write a story using the hints given below: (8)
An astronaut - travels to a different planet - comes across flying whales -
walking trees - three eyed killer birds — strange things and creatures —
curious - terrified — unable to escape — finally gets help — reaches earth.



SECTION C (GRAMMAR) (20 MARKS)
8. Complete the following paragraph by choosing a suitable form of the

words given in the brackets (72 x 8 = 4)
One day the people living near a mighty mountain (a) (hear) a rumbling
sound. Smoke (b) ___ (come) out of the peak; the earth (c) (tremble) and
great rocks (d) (roll) down into the valley. Somebody (e) (whisper) in
horror. Many people (f) _____ (rush) to a vantage point for a better sight. They (g)
______ (think) that a terrible thing (h) (go) to happen.

(a) (i) hears (ii) heard (iii) are hearing (iv) had heard

(b) (i) come (i) is coming (iii) was coming (iv) had come

(c) (i) was trembling (ii) trembles (iii) is trembling (iv) had trembled

(d) (i) were rolling (ii) is rolling (iii) had rolled (iv) was rolling

(e) (i) is whispering  (ii) were whispering (iii) whispered (iv) whispers

(f) (i) are rushing (ii) rushed (iii) rush (iv) is rushing

(g) (i) thought (ii) are thinking (iii) will think (iv) have thought

(h) (i) went (ii) had gone (iii) was going (iv) is going

9. Fill in the blanks with the words given in the box. (V2x 8=4)
but neither nor what but otherwise when that

(a)____ I was a small girl, my grandpa used to tell me the story of an honest

woodcutter who was awarded with the gold, silver and copper axes by God.

(b)___these days situations have totally changed. (c) do we have honest

woodcutters (d)____such gods. By saying this I don’t mean (e) ____ it does not

pay to be honest. (f)_____ used to be a virtue in the past has become a crime

today. People have become hard-hearted, selfish and feelingless, (g) still

we have to make efforts to curb the vices, (h)__ the world will be doomed and we

will be left nowhere.

10. The passage below has an error in each line. Write the incorrect and the

correct word. (72x 8 = 4)
INCORRECT CORRECT

Lal Bahadur Shastri, the late Prime Minister in eg. In of
India, was once asked for open a family planning (a)
centre. After a inauguration ceremony (b)
everyone sat down over their chairs. (c)
They expected the Prime Minister to give an speech. (d)
He seemed reluctant. Finally while several officials (e)
urged him too say a few words, Shastriji began, (f)
“As the father on six children, I must be the least (2)
qualified person to say anything on these occasion.” (h)

(a) (i) on (ii) to (iii) of (iv) too

(b) (i) too (i) of (iii) in (iv) to

(c) (i) of (i) in (iii) over  (iv) under

(d) (i) a (ii) of (iii) the (iv) at

(e) (i) with (i) the (iii)to (iv)after

() (i) to (i) in (iii) of (iv) at

© () to (ii) o (i)in  (v)a

(h) (i) a (ii) thlS (iii) to (iv) those



11. Read the following dialogue and complete the passage given below with
the right option given (1x4=4)

Customer : Waiter, there are flies in my food.

Waiter : But, Sir, they are fresh flies.

Customer : What do you mean?

Waiter : They arrived only this morning, Sir.

A customer in a restaurant complained that a) in his food . The
waiter told him b) fresh flies.When the customer asked what

c) , the waiter politely replied that d) only that
morning.

12. Arrange the jumbled words to form meaningful sentences. (1x4=4)

1. of /strutted /courtyard/ in the/ couple/ a/peacocks
2. with a /there/umbrella/ a/is standing/lady/red

3. to work/goal/has/ diligently /a /reach/man/his/to
4. the /waited /mother/anxious/result/the/for

SECTION D (LITERATURE) 25 MARKS
13. Read the given extracts and tick the right option. (3x3=9)
A. “The bill please. And have you any idea where the Hotel Stefani is?”

a) Who spoke this line to whom?
(i) Paul to the waitress (ii) Patricia to Paul
(iii) Paul to the waiter (iv) Patricia to the waitress

b) What bill is the person talking about?
c) Why is the person asking for directions to Hotel Stefani?

B. ‘Oh no, no, to ask me is in vain,
For who goes up your winding stair can ne’er come down again.’

a) Who spoke this line to whom?
(i) Fly to Spider (ii) Mary Howitt to Spider
(iii) Spider to Fly (iv) Fly to herself

b) ‘vain’ in the above line means .
(i) proud (i) futile (iii) useful (iv) beautiful

c) Where does the winding stair lead to and why does no one come back from
there?
(i) The winding stair leads to the terrace and no one comes back because they die.
(ii) The winding stair is spiky and no one comes back because the spike
kills them.
(iii) The winding stair is slippery and all are scared to come back.
(iv) The winding stair leads to the spider’s den and no one comes back because it
devours them.
C. ‘Why are you so unkind? Have pity. I'm sure he is not a spy. He seems a true
one.’
(a) Who is the speaker of this line?
(b) Who is ‘he’ being referred to?
(c) When does the person utter these words?



13. Answer any 4 of the following questions in about 4 to 5 lines. (2x4=8)

1.
2.

4.
5.

What did Soapy desire most in the world?
In the poem ‘Daybreak’ the wind talks to various objects and people. Who are
they?

. Mention any one incident from ‘Say the right thing’, which embarrasses Mary

and makes her apologize for the same to her mother‘s guests.
Describe the man who was travelling with Mrs.Blake in the train.
How does the wind poke fun at weaklings?

14. Write a diary entry in Mary’s words about her experience with her mother’s

guests. (8)
OR

The evil Spider is triumphant after a hearty meal of the Fly. Write about his
experience and cunning ways through which he wins his game .



SINDHI HIGH SCHOOL
SUMMATIVE ASSESSMENT - II (2015-16)
SUBJECT:- MATHEMATICS
CLASS : VI
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MARKS : 90
TIME : 2% HRS

NO. OF SIDES:-04

SECTION - A
1. Find the two missing numbers in the following sequences:
-30, -27, -24, -21, , , -12

2. Calculate the perimeter of the figure given below:

3. Find the difference between the highest and the lowest numbers :

35, 45, 54, 63, 12, 72, 38, 9, 88, 93, 100

15 10

8 6 30

4. Fill in the blanks :

[uy

SECTION - B

5. Find the ratio : (i 30 minute to 45 minute (ii) 33km to 121 km

6. A table top measures 2m by 1m 50cm . What is the area in sq m.

(1X4=4)

(2X6=12)

7. Catherine threw a dice 40 times and noted the number appearing each time as

shown below

1,3,4,5,6,6,3,5,4,1,6,2,5,3,4,6,1,5,5,6,1,1,2,2,3,4,2,4,5,5,5,6,1,6,2,3,5,2,4,1.

Make a frequency table using tally mark.

8. Construct an angle of 900 using ruler and compasses.

9. The sum of two integers is 65. If one of the integer is —47 . Find the other.

10. Change the following statement involving algebraic expressions to ordinary

statements:

(i) There are ‘n’ number of apples in the basket. The total number of apples

is 15n.
(ii) Sakshi is X’ years old. Her uncle is ‘3x-5 ‘years old.

SECTION -C

(3X10=30)

11. The following table shows the favourite subjects of class VI students .Present

this information as a pictograph.

Subjects | English Hindi Maths | Science Social | Sanskrit
No of 8 7 9 S 6 12
students

12. Write ;
(a) The successor of (=193 - (—9)
b) The additive inverse of — (—12) + (—98)

(
(c) 16 more than (—58) - (—71)

13.(a) write five negative integer greater than -9 .



(b) Find the value of : (i) (=7) +(—4) (i) (8)—(=7)

14. Draw any 2 English alphabets which has (i) vertical lines of symmetry
(ii) Horizontal lines of symmetry  (iii) No lines of symmetry.

15. Using a variable with each of the following statement write an algebraic
equation :
(a) A number increased by 9 is 15 .
(b) Five less than three times a number is 40.
(c) Twice the product of a number added to 6 is 20.

16. Find the solution for the following equation by trial and error method :
i) Z-4 =16 (ii) 2N = 36

17. If the cost of 7 meter of cloth is Rs. 294. Find the cost of 15 m of cloth ?

18. Rs. 460 is to be distributed between A and B in the ratio of 3 : 2. Find the
difference between the shares of A and B.

19. Draw a circle of radius 3cm , with the same centre, draw two more circles of
radius 3.5cm and 4.2cm

20. For an apartment the cost of cleaning a squared swimming pool of side 25 m
is Rs. 20 per square meter. (i Find the cost of cleaning the pool.
(ii) A group of the society members cleaned it by themselves. What value did
you incur from this act ?

SECTION - D (4X11=44)

21(i) By Splitting the following figure into rectangles , 3em
find the area of the figure: .

3cm
2cm

Gem

9cm

(ii)Observe the following symmetrical figures carefully and write the number of
lines of symmetry in it.

22. A lady charges Rs. 5 per 50cm for hemming clothes, (It is done only around
the boundary ) . Find the amount she will earn from a table cloth that is
50cm long and 75cm broad .

23. Hiralal wants to cover the floor of the hall 5m wide and 6m long by squared
tiles. If each square tiles is of side 20cm then, find the number of tiles
required to cover the floor of the hall?

24. Raju purchased 10 pens for Rs. 150 and Manish buys 7 pens for Rs. 84. Can
you say who got the pens at the cheaper rate ?

25. () Find x ,if 4, 12, x, 18 are in proportion.
(ii) Determine whether the following are in proportion or not . Also write
which is the mean term and which is the extreme term :
(@ 12:20 ::3:5 (b)25:30:: 49:63



26. Anu went to buy confectionery for her picnic. She took Rs. 500 with her and
bought the following :
(a) 2 packets of wafers @ Rs. X
(b) 3 packets of biscuits @ Rs. Y per packet
I 5 bars of chocolate @ Rs. 2 per packet .
Frame an expression for the total amount spent by Anu and the amount
left with her ?
27. Substitute a =1, 2, -1, -2 in the following equation and hence find its
solution: 13 a - 5 =21

28. Complete the table :

Shapes Rough figure Number of lines of
symmetry

Equilateral triangle

Square

Circle
Parallelogram

29. Draw any line segment AB . Mark any point M on it. Through M, draw a
perpendicular to AB. (Using ruler and compass ).

30. (i) The point A is on a mountain which is 5700 m above sea level and the
point B is in a mine which is 3960m below sea level. Find the vertical
distance between point A and B.
(ii) Simplify 37 + (=23) + (—65) + (—9)

[P.T.O]

27. Substitute a =1, 2, -1, -2 in the following equation and hence find its
solution : 13 a - 5 =21

28. Complete the table :

Shapes Rough figure Number of lines of
symmetry

Equilateral triangle

Square

Circle




Parallelogram

29. Draw any line segment AB . Mark any point M on it. Through M , draw a
perpendicular to AB. (Using ruler and compass ).

30. (i) The point A is on a mountain which is 5700 m above sea level and the
point B is in a mine which is 3960m below sea level. Find the vertical
distance between point A and B.
(ii) Simplify 37 + (=23) + (—65) + (—9)

[P.T.O]

31. Read the bar graph representing the figures given below and answer the
following questions:

Amount of Sugar in Certain Foods

35 332

28

N
=

»

Percent of Sugar

88 9.2

0 _II

Ketchup Peanut Chocolate Ice Chocolate Crackers
Butter Bar Cream Cake

(i) What is the information given in the bar graph?

(ii) Arrange the food products in descending order according to the amount of
sugar in it.

(iii) Which are the food products contains amount of sugar more than 25 %

(iv) Which food item has greatest percentage of sugar and which has the least

amount of percentage of sugar?
*khkkkhkkx
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SECTION - A (HISTORY/ CIVICS)
I. Answer the following in one or sentence each:- (1x6=6)
1. Name the highest level of panchayati raj system?

2. What is Nirvana?

3. Define the term transplantation.

4. What does patriarchal family refer to?

5. When was the Madras Municipal Corporation setup?
6. Name the milk capital of India.

II. Answer the following in three or four sentences:
7. List the remarkable achievements of the Guptas in the field of mathematics,
literature and science. (3)

8. Suggest three ways in which we can put a check on corruption. (3)

9. (a) Identify the picture.
(b) Briefly explain its structure.
(c) What was it used for?

(1)
(1)
(1)

10.(a) Mention the role of district planning committee and State Election

Commission. (2)

(b) Name the State Election Commissioner of Karnataka. (1)
11. Describe South India’s trade with the Roman Empire. (3)
12. (a) What is FIR? (1)
(b) Describe the responsibilities of the police. (2)

13 (a) Mention the objectives of Ashoka’sDhamma. (2)

(b) Inscriptions were engraved on rocks and pillars during Ashoka’s reign.
Justify the statement. (1)

III. Answer the following in five to six sentences each:
14. (a) Summarise the four noble truths of Buddha. (2)
(b) State three reasons for the popularity of Buddhism and Jainism. (3)

15. Describe any three compulsory and two voluntary functions of Municipal
Corporation. (S)



16. Prove the statements.
(a) Ancient Indian civilisation was one of the richest civilisations in the world. (3)

(b) Jataka and panchatantra stories are relevant even today. (2)
17. (a) Differentiate between urban and rural structure. (3)
(b)What are the advantages of a permanent worker. (2)
18. (a) Why was zamindari system abolished? (3)
(b) How have women been empowered through the Hindu Succession Act,
2005? (2)
19. (a) List any three instances to show that Harshavrdhana was a tolerant
and charitable ruler. (3)
(b) why did Harsha fail to conquer the Deccan? (2)

SECTION - B GEOGRAPHY
I. Answer the following in one sentence each:- (1x3=3)
1. Name the rivers which helped in the formation of The Northern Plains.

2. What is lapse rate?
3. Define poaching.

II. Answer the following.
4. Mention three importance of mountains. (3)

5. Describe how the fold and block mountains are formed. Give an example for

each. (2+1)
6.(a) Define the term global warming. (1)
(b) How are human activities disturbing the balance in nature. (2)

7. Give reasons for the following:

(a) Mountains are sparsely populated. (1)
(b) Plains are densely populated. (1)
(c) Plateaus are referred to as store house of minerals. (1)

III. Answer the following in five to six sentences:
7. (a) What are Sunderbans. (2)
(b) Differentiate between tropical rain forest and tropical deciduous forest. (3)

9.(a) Define atmosphere? (1)
(b) Draw the diagram showing layers of the atmosphere. (4)
10. On the outline map of the world, locate and name the following. (5)

(a) The second largest continent of the world.

(b) Isthmus of Panama.

(c) The ocean surrounded by two Americans on the west.
(d) The smallest continent and largest country in the world.
(e) The ocean named after a country.
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IV. Solve the cross word with the help of clues given below. (Y2x 6 = 3)
Across

1. The owner of large piece of land

2. He maintains law and order in villages
3. The division of a district.

Down
4 . It is a great disaster

5. He is a link between the government and the farmers
6. Head of the District Administration

IV. Solve the cross word with the help of clues given below. (¥2x6=3)
Across

1. The owner of large piece of land

2. He maintains law and order in villages

3. The division of a district.

Down

4 . It is a great disaster
5. He is a link between the government and the farmers
6. Head of the District Administration
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